STRUKTURAILNI
POLITIKA




Struktura ekonomiky

Struktura = vnitrni ¢lenéni
A) podil na HDP x B) podil na zamestnanosti
AlS x Odvétvova struktura




/Zemédelstvi/Pramysl/Sluzby (% HDP)

1990 2004
USA 2/28/70 1/22/77
Japonsko 3/39/58 1/31/68
Korea 9/42/50 4/41/56
Rusko 17/48/35 5/35/60
Cina 27/42/31 13/46/41
Indie 31/28/41 21/27/52
Uganda 57/11/32 32/21/47




/Zemédelstvi/Pramysl/Sluzby (% HDP)

1990 2004
Nemecko 2/38/61 1/29/70
Francie 4/27/70 3/22/76
V. Britanie 2/35/63 1/26/73
ltalie 4/34/63 3/28/70
Svédsko 3/32/64 2/29/69
Belgie 2/33/65 1/25/73
Rakousko 4/32/64 2/31/67




Zemédélstvi (Yo HDP)

1975 1985 1995 2005
Francie 5,9 4,3 3,4 2,3
Nemecko 3,1 1,9 1,3 0,9
Italie 7,5 4.7 3,3 2,2
Britanie 2,7 1,7 1,8 0,9
Japonsko 5,4 3,2 1,9 1,4
USA 4,0 2,4 1,6 1,2




/Zemédelstvi/Pramysl/Sluzby (% HDP)

1990 2004
Ceska Rep. 6/49/45 3/38/59
Slovensko //59/34 4/30/67
Madarsko 15/39/46 3/31/66
Polsko 8/560/42 3/33/64
Slovinsko 6/42/52 3/37/61
Rumunsko 24/50/26 14/37/49
Estonsko 17/560/34 4/29/67




Strukturalni zmena

Zmena struktury ekonomiky
Priciny strukturalnich zmen
a) nabidkové b) poptavkove c) zahranicni

Strukturalni pokles = dramaticka zména
struktury ekonomiky, vliv mobility VF; vyhnita
oblast




Struktura ceskoslovenského hospodartstvi

1930

% HDP
Zemedelstvi 22
Prumysl 38
Stavebnictvi 6
Sluzby 34




‘ Zivotni cyklus odvétvi

—~Z X OADOUH~OZ




Faze zivotniho cyklu

Introduction — The product appears on the market. Customers are not aware of its
potential benefits so advertising is usually necessary. Investments are needed
to cover sunk costs and to build up a market. Risk is high because it is not clear
if the product succeeds. Profit is negative due to high costs and low sales. The
level of competition is low.

Growth — The product has been successful and there is a rapid spread of
awareness and use of the product. Sales are growing quickly, unit costs are
decreasing and profits start to be generated. Investments are still high. The
product is promising and new competitors are attracted into the industry.

Maturity — The product reaches limits of the market size. Sales and profits are high
but there is limited possibility to expand them. Marginal sales are growing only
very slowly or they are even starting to stagnate. Investments are mainly
renewable. Competition is very intensive on the market, because the product is
highly profitable.

Decline — The product is starting to be obsolete. Customers have been attracted to
other products. Advertising or brand loyalty can slow it down but not for long.
Sales are falling and unit costs are increasing as output falls. Profit is low or
negative and competitors leave the market.




Struktura zamestnanosti CR

1990 1995 2000 2007
Celkem 5351 5012 4751 4922
Zemedelstvi 5353 257 169 141
Lesnictvi 78 55 41 3
Prumysl 2025 16238 1510 1460
Stavebnictvi 403 450 392 447
Obchod a pohostinstvi 614 890 891 795
Doprava a spoje 371 355 347 364
Sluzby podniktm, nemov. Vyzkum 382 389 416 353
Skolstvi 317 322 298 290
Zdravotnictvi 280 262 265 338
Veiejna sprava 06 162 186 326
Penéznictvi, pojistovnictvi 28 85 86 102




‘ Transformacni recese
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‘ Strukturalni zmény v dlouhém obdobi

Obr. 3: Madove relace pred padesati lefty 3 nval (prumeérna mzda = 100 %5}
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Struktura poptavky

2005 X 1990
C G I X | M S | x| C G | X | M S
Britanie 651 22 17| 26| 30| 14| x 63| 20 20| 24 27| 16
Francie ST 24 201 26| 27 18] x ST 22 22 21| 23| 121
Neémecko (1 19 17| 40 35 21| x ST 20 24| 25| 25| 24
Svédsko 481 27 17| 49 41| 23| x 491 27 23( 30| 30| 21
CR 491 22 271 72 70| 24| x 491 23 25| 45| 43| 28
USA 00 16 191 10 15 13 x 671 17| 18] 10 11 15
Japonsko ST 18] 23 13 11| 261 x 531 13 33| 1l 0] M4

Legenda: C - soukroma spotieba; G - viddni spotieba, I - investice; X - exporty, M - importy, S - ispory

Zdroj: World Bank ( 2007)




Strukturalni politika

Case 1: USA: Vyvoj atomove pumy, Kosmonautika
Case 2: UK: renovace dolu a lodi

Case 3: Francie — indikativni planovani + statni
vliastnictvi

Case 4: Japonsko — MITI, motorky, polovodice
Case 5: Airbus

Case 6: Industrializace RZ

Case 7: Industrializace Slovenska

Case 8: Letecky priimysl CR

Case 9: Too big to fail




Citaty

,Je pak plytvanim pouzivat amerického delnika k vyrobé neceho,
v ¢éem neni alespori jedenapulkrat produktivnéjsi nez délnik
Jjaponsky.“ (M. a R. Friedmanovi: Svoboda volby 1979, Liberalni
Institut 1992, s. 51)

,Ochrana v podstaté znamena vykoristovani spotrebitele.
Prizniva obchodni bilance ve skuteCnosti znamena, ze do
zahraniCi posilame zbozi o vétsi celkove hodnote, nez
privazime.” (M. a R. Friedmanovi: Svoboda volby 1979, Liberalni
Institut 1992, s. 51)

,But the techno-hype that surrounds us has some real costs. It
causes business to waste money; it causes politicians to seek
high-tech fixes (give every child a laptop!) when they should be
getting back to basics (teach every child to read).” (Paul
Krugman — The Accidental Theorist 1999, p. 104)




